953 H RS A L
3.1 De Morgan EI&

AR R RO R W —Fp vk ez — I AR .

(6] 3-1] SRAHET 20 (IR Eh Ry 2 5% 3 A5 R0 4L,

AHBEE 20 PP 2 AR ECH 10 4.

2,4,6,8,10,12,14,16,18,20
ANHEE 20 P 3 BIARECE 6 4>
3,6,9,12,15,18
EHA 2 80 3 AR H A 13 A4 A JE 10+6=16 4~ H
2.3.4.6.8.9,10.12.14,15.16.18.20

Horr6,12,18 [FEFH 2 F1 3 i 4. A5 10+6=16,WELEITH T —1K 6.12,18.
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=1260— 445+ 62 —6 = 871
2. WESTR
0 AT — N HEB T LB AR 2 AT AE X BEEE 1 R — S
Bl R 24— BT TR 5 — A T BT AT | O
FIBVETR fo VA AEATRE T J I 3-3 JF » 46 ML |- B 17 4 o
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[% ]
R :1-R< E )+R }1-(1+21->+<1+31+1»2>1+41+3IZ
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Zr (CHa') Zr (C, )I

ji=0

—R(CHR(C,)
I FH X A2 2Ok A B0 T2 2 A9 B 23 £ 101 X L 4 1)
[ ] []
R = =R H +R P
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+3(ANBNC|I+H ANBNODI+HANCND |
+IBNCOADDH—4|ANBNCND|

ik nl LA
IANBNCNDI=IANBI=(ANBNC|
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a(2) =1 A NA [+ A NA I+l A NA [+ A N A,
+1 A, NA [+ A N A
B2 =1A NA NA NA [+ A NA NA NA, |
+A NA NA NA THA NA NA NA,
A NA NA NA +H A NA NA NA,
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B =1A NA NA NA [+ A NA NA NA, |
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x® 32
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M. ¥ 1 1 1 1 1 1
E: ¥&if 1 1 1 1 1 1
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ﬁ<o>::a<o>4—(O)a<1>4—(0)a<2>4—(O)a<3>4—(o)a<4>

13— 26422—104+2 — 1
BEE 13 M, A% F.C,M,E.
m=1,
2 3 4
mn=un—()am+()ﬂa—()um
1 1 1
=26—2X22+3X10—4X2
— 26444308 —4
B4 1,2.5,10,11 o 0.
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